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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x10=10
were fRiEE Ao S Tew fra s

(a) Which of the following national level
federation was formed in 19207

TH9 (IO AGIT 2T (FOIEDT Sv20 He
ol =1 Qe

i INTUC

(i) AITUC
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(b)

(iii) UTUC
(iv) HMS
(Choose the most appropriate answer)

(BITIReCE TG Tewcht 1R Shveq)

Are collective agreements legally
enforceable ?

WMW@WW@WW
A ?

() Yes, otherwise they would be
worthless.

T, R CREAR ST 0% AAfResre |

(i) No, they are never legally
enforceable.

ﬂfiﬁ%@ﬁ@%ﬂf@@@ﬁmm«
IRI ~fa 7= |

(i) They are presumed not to be
legally enforceable unless the
parties agree otherwise.

TR O 4 TS Rfimiee
CREN SIZIeeIr To1e 3Re R 3
SRy
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(c)
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(iv) Only those made with trade
unions.

@<E (GO TSRT IS e |
(Choose the most appropriate answer)

(SiZere Grye Tew! TR e

On which ground can a trade union
refuse to admit a person or expel a

member ?

iRt A S ARER TR SR T
2?2
(i) Goodwill damage
Aoz S
(ij) Misconduct
TR B
(iii) Change in job
SR RO
(iv) Relation with manager
ARG TS TAF
(Choose the most appropriate answer)

(S5Zere Tofye Tewchl R TS

2 Contd.




(h) According to Factories Act, 1948 no

(d) Workers’ ticinati .
is an imp%?-ie:r‘i}np?(gz? (l)rf1 gi?gﬁzme-nf woman shall be required or allowed to
incentive to the workers. e work in any factory except between the
(State whether the statement is true or hours 6 am and 7 pm. .
false) (State whether the statement 1s true or
s e« SIS SfEEeTg false)
SREH Tl s wmagalef | e AT SIS, S58Y SR (G T 1 &
(FECo! A1 & Fim Ty ) TG o| A a4 IGE fTewe AW (Il
(e) Unde : TR B A Feriesl 9 W EiRa |
r____ policy, employees are free ~
to meet the top executives of the (F@C5! 51 (7 [ T )
l?égilnlsaé1on and get their grievances (i) The Factories Act, 1948 requires that
R o (Fill in the blank) appointment of the ‘Safety officer’ in
- T 9T ARG ALZR A factories employing at least:
PR AFR TR oS wiferaisnm S8 Hrd PRI S S Trge e e
T TS FRE0eT RIGH | e Frdmme 7w [ Fyfe W e e
_ (3171 3% {79 1) () 250 workers
(/) The conciliation officer is given the s¢o G SR
power of _ . [a(Fill in the blank) I
1 0 rkers
Wﬁw—-———?wﬁm@[ (ii) 500 wo
. e (ST I 717 o) gaeel
(9) ﬁt union is a group of employees whe (iii) 1000 workers
argain the terms and conditions of 000 T [P
employment. 0 p
(State whether t 5 3
false) r the statement is trye of (iv) None of the above
EToRD| mwﬁéﬁwﬁmmﬁﬁ%mﬁ @5 (IR T2
% HESRETR IE | (Choose the correct answer)
(WWW@%WW) (9% Teweh! IR Clre)
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() Before the Industrial Dispute Act was
implemented, which Act took care of
the industrial disputes ?

ST R @12 SRR @RI Site
SR ST Ram w9 e e
(i) Trade Disputes Act, 1929

(@) Royal Commission on L

abour,
1934

(iit) Labour Management Re]

ations Act,
1947

(iv) None of the above

AT (IR 7=y

(Choose the correct answer)

(% Tewhr g5 Cleramy)
Answer the following in brief :

©TS TR 59t e fig o

(@) State two objectives of ; :
: in
relations. S

2.
2x5=10

BO1FC 0007 6

(b) Define industrial discipline.

BT SRR el

(c) State two reasons of forming trade
union.

& S T Zﬁ@qﬁﬁﬁ"lﬁ“

d) Highlight any two benefits of workers’
ol participation in management.

WWW‘TWW@
SIS \@9RS SICEIF=S |

(e) Define lockout.

FeIooe weel il |

3. Answer the following questions : (any four)

Sx4=20

o TR Tt Bl ¢ (Rt i)

1 le of workers’

a) What 1s the.ro -

& participation 1n managemgnt in
promoting industrial harmony -

S TR SPTRE (RIS ARblETS S
el gl 2
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(b) Briefly discuss :
: the potential benefits of :
collective bargaining for employeelss B 4. Answer any four from the following
=R ) questions : 10x4=40
R Bﬁfﬁw TR sifasre T ol ¢
; GG 4 | were AR Rl e G 3
(c) '\ghat are the common challenges faced (a) Discuss the functions of Joint
Y iR Wgne e ) Management Councils. What is the role
@E 35'?@?1'(?{ W{ﬂq of Workers’ representatives in the
; (Rt 7 x
e f5e 91 SRR board ? 5+5=10
(d) Fl;lleﬂy d%scuss the causes of industr G SAfREE! sifRand FIFTRS RAC SCETvAl
ndiscipline. rial il a"é@ ﬁf@ﬁﬁ"ﬂ' ; -
e _
RG] R e SR 126 (b) Explain the factors affecting growth of
o industrial relations in India.
e)] Wri
(e) inﬁ:‘j i tl;;:iengn thg role of government SRTS ST soidq i el (AT
good industrial relation
> e A =
F-BTIRIE. T ez FlEFTIR [AC
TN T b gfir _ it di |
<5t (Bt o7 (c) Define collective bargaining. bxpial
: ive bargaining.
different types of collective
(f) © What are the key differences b 2+8=10
layoff and retrenchment etween
BIIpIe O AR hi Wﬂwﬂi@iﬁmiﬁiwﬂ QO AT
e ' S 36T “fiefy & 9
' e e Al
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i

he
ILO formed ? What are t

i s of ILO ? Write any
1+5+4=10

(v

(d) What are the' key objectives of a ' ' three main organ
grievance handling machinery ? Explain four functions of ILO.

the different types of grievances that

can arise in the workplace. 5+5=10 Lo e sion =1 (et ? ILOS o ﬁmsl T30
/\ |

ST et g o1 Sl s s 2 <wsimrs el B ILO Rceplcal Bifo! Friee

T8 = =il Bfen smom sforami Ragr ey

|

(e} Are trade unions relevant in a modern
industrial society ? What are the
advantages and disadvantages of trade
unions ? 2+4+4=]10

WWWW@G%@@mﬁa
gk @%ﬁwﬁﬁﬂmwﬁﬁw%%?

() What are the provisions regarding
health of factory workers ? Explain,

wwaﬁmwwﬁﬁs%ﬁww?
I [ |

(g) What are different types of strikes ?
Discuss the potential consequences of
Strikes. 5+5=10

ﬁ%ﬂﬁ%ﬁﬂﬁ%%?ﬁﬂ%@mqﬁcm

R s 9= 3000

BO1FC 0007 11



